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Source of Data
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CPI-U Inflation index- www.bls.gov

Courtesy of InflationData.com. Used with permission.




Road Map/Model

Model: Infinitely Repeated Cournot Oligopoly:
« nfirms, MC = 0;

« Zero marginal cost;

« P=max{1-Q,0};

Road map:

1. Monopoly Production for patient firms

2. Optimal Cartel production

3. Carrot and Stick Strategies

4. Price Wars




Monopoly Production

Strategy: Each is to produce g = 1/(2n); if
any firm defects produce g = 1/(1+n) forever.
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Optimal Production (n=2)

Strategy: Each firm is to produce g*; if any one
deviates, each produce 1/(n+1) thereafter.
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Carrot and Stick

Produce "4 at the beginning;
atany t> 0,

—produce %4 if both produced % or both
produced x at t-1;

—otherwise, produce x.




Price Wars

* (2007 Midterm 2, P3)
» Stage Game: Linear Bertrand Duopoly (¢c=0; Q=1-p)

» Strategy: n + 1 modes: Collusion, W1, W2, ..., Wn.
Game starts at Collusion. Both charge 1/2 in the
Collusion mode and p*<1/2 in W1,. .., Wn. Without
deviation, Collusion leads to Collusion, W1 leads to
W2,..., W(n-1) leads to Wn, and Wn leads to
Collusion. Any deviation leads to W1.
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